
Subject: Re: VPS for Oracle, requires SWAP partition
Posted by kir on Mon, 28 Nov 2005 21:00:16 GMT
View Forum Message <> Reply to Message

First, check that your VPS' /proc/user_beancounters does not have any bean counters with failcnt
(last column) more than zero. If there are some, try to run application which gives an error once
again and check if failcnt is increasing. If they do, then your application requires more resources
and you need to tune up some UBC parameters.

Please keep up updated about your progress with Oracle, we will try to help you.
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